B4 AR 5E B Fefil (Bitk) B4 JR 7 BAAL Fefil (Bitk) B4 JR 7 BAfL Fefil (Bitk) B4 JR 7 BAfL FEAT (Bik)
F* MDB 30A 10 126| |77 40ANH 20 107| | bV 100gDB) o= 10 9 (777 vy H 2 45
F2Z MF 500 3.15| |Fr 574 20 26| |¥YbFY100gDB(H) & 10 99| |B.S.F—7 1 126
7% LDB 40A 10 126 |#27FXv b 100 6.7 |Y*YFY100gPK 100 6.6 |~y 1 1,068
F* LF 400 3.15| [F7 5%y M(EKH) 50 5.7| |~ F¥Y 50 ¢gDB (i) AYR 10 79| [2=2) vy 7 5EA 1 6,095
F X 3Xx50DB LF 10 126| |75 3 0ADB 10 74| |¥Y¥FY 50 gDB(F) & 10 9| |=FRRy T =5 —i 1 3,710
FAX 700gX15DB 10 126 YvhY50gPK 100 5.75| |[=FRUBSHIVIBTLOMAN 1 bE 1 540
FA 700gF 150 4.1 YV YRy b 100 23| |=F AU BST—TUMA 2BA 1 660
72 1KX10DB 10 126 B4 BRFEHAL Fefil (Bitk) Ry HIVIH 10 100
FAx 1KF 100 5| [Mm=rFry & NY R 25 77| |¥Ak FoRyy 1 26, 500
F2 »"* 5KF 100 13.7| |[BIRavyFF7H & NUR 25 26 B4 R 5 HAL Fefil (Bitk) &y Ml
F+* 5KDB 10 82| |[Mim=arFFy & ML 25 77| |¥#DB 10 84| (757 F—F5M@EY b 1 790
FA BKME 100 10.15| |Mim=vFr74 &  BXT 25 26| |FWRAKT— b 10 32.15| (757 hF—F1% (5 0f@A) 1 7, 500
F* 10K~5DB 10 114.8| [MEKA—F (225 F) 100 10. 25| |FILAE 100 15.7| |B.S.¥—71 0%ty b 1 1, 160
FA 10KR5F 100 16.3| |#/K10KDB 10 ol| |iLA#R 1000 5.1 |[B.S.7—71% (2 0fAA) 1 2,220
&y Ml #HK1O0KF 100 9.5| |RIEF 100 2.75
[y }] 72 MDB 100 122
[ty F] X MDB (3> 7n) 100 109 B4 JR 7 BAfL Fefilh (Bitk) B4 JR 7 BAfL FEAT (Bik) $FHDB1.5kg 25 50
[y F] 72 3X50DB 80 122| %72 9EDB 2.5kg 10 67| |[7my=Y—DB 10 113| ([¢9°7% DB 50 13
[y +] 72 LDB 100 122| kT2 9EM& T 2.5kg 10 67| |[Tmyay—&KkL— b 10 54
[ty ] 7% LF 4,000 2.84| [RF 2 9EH 100 13| [Feyay—pE 100 62| |bo&xx>
MDB 100%y b 1 20,720| |¥7218EDB 5kg 10 86 it JR 7 BAfL FEflh (Bik)
LDB 100%&y b 1 23,560| |¥7F 21 8EMLiS 5kg 10 86| |E3E bo&%xr9DB 10 98
¥FAF 1 8EA 100 5.45 B4 R FE BT Fefl (Bik) bo&x5F 0. 035 100 5.75
B4 R 55 HAL Fefil (Bitk) A% ATFYY—b 200 2.75| [Ea2Lik
=5D B (%) FGH 10 126 B4 JR 7 BAfL FEAT (Bik) »&EDB 20 44 B4 R 75 ML Feflh (Bidk)
=9 F () FGH 100 10.48| |FH4EEDB 2K 10 67| |(AFy ST FY2KDB 10 56 [ARI&H Y] - 0
=FF—RUF P 1 620 |$4:%DB4K 10 87 (GLIES - 0
=7DBERAL) H4 - £ 10 126 |4£%F 100 25.75| [Am¥ R X3 (FHE) - 0
=D B (#t) | 10 93| |FiEEV—T 500 2.55 B4 JR 7 BAfL Fefil (Bitk) ZDRER) Xt (RA) - 0
=7 F () 5KF ~SH 100 11.6| |HFEESFVV 1,000 4.9 |7—n2RY b 50 90| |EVIRGR) X/ (&) - 0
=5 1KF RS5H 1,000 4.35 T—NAY—N 50 1.3 (VR (F) X/ ERD) - 0
E=%11000A il 1 552| [ T—A N 20 196| (VIR OKE) XMT (H&) - 0
=55 %7 58N L0700 1 2190 B4 RIEHAL | G | [T—aAx A T 20 60| [V By BT (Hid) - 0
HRERFEF i 1 500 |EMAFr—N 54 189| |7—n2 X & 20 221| |ZEviIR(A) X277 EHE) - 0
5 b r— (&) 4,000 2.8 |[T—AR K 74 20 62 (VIR V) XA T (Hir) - 0
Py b r—(8) 4,000 2.7 |7—n 20 33| VRO V) X=F (FHE) - 0
B4 R 55 HAL Fefilh (Bitk) BEH—AMTHE 5,000 1| 7=z 2F /& 20 93.7| [EVRO-Y) X=7 (&id) - 0
r—<26 OADB 10 128| |E#%500gX20DB 10 121 (77— 2FE /h 74 20 40. 81
¥—<24KDB 10 87| |EHEFR 1,000 3.05| [7—Ax 2F A E 20 30. 63
T—NA 2F K & 20 121
B4 R 55 HAL Fefilh (Bitk) T—NA 2E K E 20 35
#RE—<YDB 10 83 2024/1/22 B




